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QUESTION 1

Which dynamic routing protocol is supported by NSX-T Data Center? 

A. OSPF 

B. RIP 

C. BGP 

D. IS-IS 

Correct Answer: C 

 

 

QUESTION 2

An administrator is planning to upgrade hardware and needs to keep the virtual machines online during the process.
Which vSphere feature will allow this to occur? 

A. vSphere Distributed Power Management 

B. vSphere Distributed Resource Scheduler 

C. vSphere High Availability 

D. vSphere Motion 

Correct Answer: D 

 

QUESTION 3

Which component provides virtual switching capabilities in NSX-T Data Center? 

A. NVD 

B. VSS 

C. NVDS 

D. VDSv6 

Correct Answer: D 

 

 

QUESTION 4
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A customer needs to secure its micro-services. 

Which feature does NSX Data Center offer to help achieve this requirement? 

A. Micro segmentation enforcement at container level 

B. Integration with third-party vendors 

C. Service Insertion for Containers 

D. Easy Operation of Containers 

Correct Answer: A 

Reference: https://www.agilis.com.tr/vmware-nsx-data-center.html 

 

QUESTION 5

Which consumption method should an administrator use to create NSX-T objects from code? 

A. The NSX-T Web GUI 

B. A dedicated NSX-T Fat Client 

C. The REST API 

D. vCenter Server 

Correct Answer: C 
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